
ADDING INTEGERS

ANSWER THE PROBLEMS BELOW AND CONNECT THE DOTS IN THE ORDER YOU CREATED.
I STARTED THE PATTERN FOR YOU…NOW YOU DO THE REST.  
NOTE: PATTERNS ARE NOT CONNECTED TOGETHER

(-3) + 8 = 5  (-18) + 8 =

(-18) + 5 = -13 (-3) + 5 =

(-14) + 7 = (-7) 5 25 + (-50) =

0 + (-3) = 6 + 3 =

5 + 9 =  41 + 9 =

(-2) + 3 = 14 (-3) 11 + (-3) =

6 + 4 = 1 (-20) + (-11) =

13 + 13 = 10 17 + 13 =

2 + (-2) = 0 26
4 27 2 + (-25) =

(-4) + 7 = 3 (-6) (-10) + (-6) =

8 + 4 =  12 (-5) + 4 =

(-9) + (-2) = (-8)
 (-4) 6 (-3) + (-2) =

(-8) + 0 = 24 20 + 20 =

5 + (-9) = 20 (-19) + (-9) =

9 + 11 =  (-3) + (-11) =

(-5) + (-10) = 39    30  (-1) 35 + (-10) =

3 + 3 = (-5) 3 + (-5) =

(-4) + 8 = 21
2

9 (-20) + 8 =

(-14) + 8 = 8 3 + 4 =

6 + 21 = 17
40 33 + (-2) =

(-4) + (-16) = (-14) + (-16) =

21 + (-6) = (-7) + 20 =

12 + 12 = 11 7 25 (-20) + (-20) =

(-9) + (-17) = (-2) 11 + 17 =

(-11) + (-11) = 0 + 11 =

5 + (-14) = (-10) + (-14) =

11 + 11 = (-30) + (-5) =

1 + (-18) = (-3) + 20 =
20 + 19 = 2 + 19 =

(-10) + (-22) = (-5) + (-22) =
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